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2.1 MARKET STRUCTURE:
A market structureis commonly said, the whole set of conditions under which a commodity is marketed; the extent and nature of competition in selling, the number and nature of buyers, the nature of the commodity that different sellers offer etc. 
[bookmark: _Toc395102104][bookmark: _Toc395693265]MARKET EQUILIBRIUMOR FIRMS EQUILIBRIUM:
What is a firm?
Generally, a firm is taken as a production unit producing an output. It considers the market conditions and aims at producing the desired output at the least cost. A firm is an independent unit producing goods and services for sale. 
Equilibrium of a firm
By equilibrium, we mean a point of rest. It is also called a stage of no change. Whenever a firm attains a stage from which it does not want to move forward or backward, it is said to be in equilibrium. So we can say that a firm is in equilibrium when it has no tendency either to expand or to contract its output. 
Assumptions of equilibrium of a firm
The concept of equilibrium of a firm rests on the following assumptions:
1. Rational firm. Rational firm always aims at earning maximum profits. In case of losses in the short-run, it earns only minimum losses. The concept of firm's equilibrium applies only to a rational firm.
2. Production of one commodity, it is assumed that a firm produces only a single commodity. Cost of a factor of production is also taken as constant and fixed. In other words, a firm can get the required and desired units of a factor at the given price.
3. Estimation of marginal revenue and marginal cost.Another assumption of firm's equilibrium is that it can easily estimate its marginal revenue and marginal costs. Thus total revenue and total costs can also be calculated by a firm.
Conditions for equilibrium
There are two methods for determination of equilibrium of a firm. They are:
1. Total Revenue and Total Cost Approach (TR & TC Approach)
2. Marginal Revenue and Marginal Cost Approach (MR & MC Approach)
1. Profit Maximization: TR & TC Approach
In order to calculate the profit of a firm, we find out the difference between the total revenue and total cost at different levels of output. A firm is said to be in equilibrium when the difference between total revenue and total cost is maximum. 


Equilibrium of the Firm under Perfect Competition
Perfect competition is a market in which there are a large number of buyers and sellers. They are selling homogeneous goods. Price is fixed by the industry. Firm is only a price-taker. The shape of TR curve tells that the total revenue of the firm is increasing with the increase in production at the same ratio. It is generally assumed that the total costs of production continue to rise as output is increased. 
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Figure: 1.1 Profit Maximizing Model of the Firm
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In the diagram given aboveTR is the total revenue at various levels of output and TC is the total cost. With output OM, the firm just covers its cost. Point A is of zero profit. It is called the breakeven point. Beyond the output OM, the difference between TR and TC is positive up to the ONlevel of output. At ONoutput, TC and TR are equal as they intersect each other. This is also called the break-even point, i.e. point of zero profit.
The firm is interested in knowing its profit-maximizing output it is clear from the figure that this is the output OQbecause the vertical distance BDis the maximum between TR and TC curves. This is clear from the fact that the tangent at point Dis parallel to the TR line. At the output OQ, the total profit curve is having a maximum at the point S.
Equilibrium of a firm under Imperfect Competition
(a) Profit-maximization Case.Under imperfect competition, a firm has control over the price of a commodity. It is, therefore, a price-maker and not a price-taker. Under imperfect competition, a firm can sell larger output only at a falling price. Therefore, the total revenue curve continues to rise from left upwards to the right. But the rate of rise continues to fall as output sold increases. The total cost curve also rises with increasing output. Profit is the vertical distance between the TR and the TC. The firm chooses that level of output where the vertical distance between TR and TC is the maximum. This output is shown in given below figure:
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Defect of the TR-TC approach- Though the total revenue and total cost approach is the simplest approach, yet it suffers from some defects. Its main shortcomings are as under:
1. It is very difficult to find the maximum vertical distance between total revenue and total cost curves.
2. This approach is based on the total costs and total revenue. It ignores the per unit cost of an output
3. It becomes difficult to find out the equilibrium of an industry with the help of this approach.
Due to these defects, modern economists have used marginal revenue and marginal cost approach in place of the total revenue and total costs approach.
2. Profit Maximization: MR & MC Approach
Modern economists like Mrs. Joan Robinson advocate this approach. Hence, according to this marginal approach, the-conditions of equilibrium of a firm are:
1. MC=MR
2. MC should cut MR from below.
The equilibrium of a firm with the help of marginal approach can be determined in both perfect and imperfect market conditions.
Equilibrium of a Firm under Perfect Competition
In Perfect competition,firm is a price-taker. Firms can sell varying amounts of output at the fixed and given price. Due to this reason, average revenue (AR) and marginal revenue (MR) are the same. And AR = MR is a horizontal straight line. It is generally assumed that marginal cost falls at first and then starts rising. The side figure shows the equilibrium of a firm under perfect competition.
See Classroom lecture
Equilibrium of a Firm under Imperfect Competition
Under imperfect competition, AR and MR of a firm are two different things. This is because under imperfect competition, a firm is a price-maker. It can sell more by lowering the price of its output. AR and MR curves of a firm fall downward from left to right. While MC and AC rise from left to right. The conditions of equilibrium of a firm are the same as apply under perfect competition. In other words, a firm will be in equilibrium if it’sMR equal to MC and MC cuts MR from below. This is explained with the help of given figure.
See Classroom lecture
The superiority of the marginal Approach shown in the diagram given above it that we can read all the three things directly from the diagram in which a firm is interested the three things are:
1. Equilibrium output = OM
2. Equilibrium price = PM; 	3. Total profit =Area PCNK.
[bookmark: _Toc395102105][bookmark: _Toc395693266]2.2 PERFECT COMPETITION: 
Price under Perfect Market Competition - Perfect competition is a form of market in which there is a large number of buyers and sellers. They sell homogenous good at uniform price. There is freedom of entry and exit and all the buyershave a full knowledge of the market conditions, it is important to note here that an industry is group of firms producing same type of products. A single firm cannot affect the price. Therefore price is fixed by an industry. Firm is only a price taker and not a price maker.
Definition - In the words ofBilas– “Perfect competition is characterized by the presence of many firms. All of them sell identical product. The seller is the price taker.”
Ferguson- "Perfect competition describes a marker in which there is a complete absence of direct competition among economic groups."
Characteristics of Perfect Competition
1. Large Number of Buyers and Sellers - There exists a large number of buyers and sellers.
2. Selling Homogenous Product - The sellers in the perfectly competitive market sell homogenous products.
3. Free Entry and Exit- There is no restrictions on the entry and exist of new firms in the industry.
4. Perfect Knowledge - Both buyersand sellers have perfect knowledge of the market.
5.Perfect Mobility of Factors of Production
6. No Transportation Cost
7. Price Taker not Price Maker
8. No Government interference
9.Absence of Collusion or sellers associations.
Conditions of Equilibrium of Firm
1. A firm will be in equilibrium when it has tendency to increase or contract the level of output.
2. Marginal Cost of the firm must be equal to Marginal Revenue. (MC=MR)
3. Marginal Cost (MC) must cut Marginal Revenue (MR) curve from below.
Equilibrium of Firm under Perfect Competition - In the short run it is not necessary that the firm must earn super normal and normal profits but can even incur losses. This has been explained as under.
1. Supernormal profits-A firm enjoys a supernormal profits only when average cost is less than average revenue. We know that average cost means total cost divided by the number of units, while average revenue means total revenue divided by number of units. 
See Classroom lecture
[bookmark: _Toc306180558][bookmark: _Toc395102106][bookmark: _Toc395184106][bookmark: _Toc395693267][bookmark: _Toc395693359]2. Normal profits- Normal profits refer to that profit where the average cost of the firm equals the average revenue. This is shown with the help of the diagram.
See Classroom lecture
3. Minimum Losses - A firm in equilibrium incurs losses when it does not cover the average cost. In Other words when average revenue falls short of average cost the firm has to sustain losses.
See Classroom lecture

Long Run Equilibrium of Firm - Long run refers to that period in which the producer can change its supply by changing all the factors of the production. On other words the producer has the sufficient time to adjust their supplies according to the changed demand conditions. Moreover the new firms can also enter and existing firms can leave the industry.
See Classroom lecture
It is due to the reason that at point E, marginal revenue, long run marginal cost, average cost and long run average cost are all equal and the firms earns normal profits only.

Price Determination under Perfect Competition–
Marshall propounded the theory that price of the commodity is determined by both the forces of demand and supply. But he gave importance to the time element in the determination of price. He discussed three time periods in which price would be different periods. They are as follows.
1. Market Period - This is very short period. It is a period in which only that can besupplied which has been already produced. Supply cannot be increased by new production. In this period goods can be of two types: Perishable goods and non-perishable goods.

See Classroom lecture


Perishable Goods - These cannot be stored for the long period of time. Example like vegetables, fish, milk etc. as no addition can be made to the existing supply of good. So whatever has been produced is to be sold whatever the price of the may be. The reason being that if they do not sell goods will decay.
Non-Perishable Goods - Due tothe durable nature of thegoods supplycan be changed even in the market period but upto a limit of the existing supply. A seller can only reduce the supply of durable goods by storing them but he cannot increasethe supply of goods. This feature of durable goods fixes the minimum price of the goods.
2. Short period - Short period is the time in which supply can be adjusted to a limited extent. If the demand for goodsincreased its supply can be increase throughoverworking of plants. In order to increases supply only variable factors can be increased.
Price Determination in Short Period - In this period in order to increase the supply the variable factor are changed but the fixed one in order to meet the demand.
See Classroom lecture
3. Long Period- Longperiodisthetimewhichislongenoughtomakeacomplete adjustments of supply to a change in demand. In order to increase the supply both the fixed as well as variable factors can be increased.
See Classroom lecture
Price Determination in Long Period (Normal Price) - It the time when the both the factors can be changed in order to increase the supply. Firms in this case earn only a normal profit. Normal profit refers to the minimum profit which a producer must earn in order to stay in production.
Concept of Pure and Perfect Competitive Market - If a market situation satisfies the fourconditions
1. Largeness of sellers and buyers
2. Selling homogeneous goods
3. Free entry and exit of firms
4. Absence of selling costs.
Perfect competition includes some conditions of perfection in addition to the four conditions of purity they are as follows.
1. Perfect knowledge among buyers and sellers about the market conditions.
2. Perfect mobility among factors of production.
[bookmark: _Toc395102107][bookmark: _Toc395693268]2.2A: MONOPOLY COMPETITION
Price determination under Monopoly
Monopoly is a market situation in which there is only one single seller or produce of the commodity which has no close substitute. Generally monopoly is of two kinds Absolute Monopoly and Relative Monopoly, Absolute Monopoly refers to that market where there is one and only on seller of a product having no close substitute. On the other has relative monopoly means single firms which constitute the whole industry. In this form there is no difference firm and industry.
Definition - According to Leftwitch– “Pure Monopoly is a market situation in which a single firm sells a product for which there is no close substitute.”
[bookmark: _Toc306180560][bookmark: _Toc395102108][bookmark: _Toc395184108][bookmark: _Toc395693269][bookmark: _Toc395693361]Characteristics of Monopoly
1. [bookmark: _Toc306180561][bookmark: _Toc395102109][bookmark: _Toc395184109][bookmark: _Toc395693270][bookmark: _Toc395693362]Under Monopoly there is a single producer or seller of the commodity.
2. The goods produced by the monopolist have no close substitutes. 
3. [bookmark: _Toc306180562][bookmark: _Toc395102110][bookmark: _Toc395184110][bookmark: _Toc395693271][bookmark: _Toc395693363]There are strong barriers to the entry of a new firm in monopoly market.
Conditions for the price determination under monopoly - Like perfectly competitive firm the monopolist tries to maximize his profits. A monopolist will be in equilibrium when he produces that much amount of output which yields maximum total profits. A monopolist is also in equilibrium in the short period when he incurs minimum losses. Under monopoly for the equilibrium pricedetermination, there are two conditions.
1. MC=MR
2. MC must cut MR from below.
Short Run Price Determination in Monopoly
1. Super Normal Profit
2. Normal Profit
3. Minimum Losses
See Classroom lecture
Long Run Period - Firm earns supernormal profits only.
See Classroom lecture
DISCRIMINATING MONOPOLY:
In simple words discriminating monopoly means charging of different prices from different buyers for the same product. 
Mrs. Joan Robinson:“Charging different price for the same product or same price for the differentiated product”.
1. It can be according to the income or purchasing power of buyers, for example in a group of a village a doctor may change higher fee to the rich and lower fee to the poor.
2. Or it can be according to location of the purchaser for example higher prices may be charged at home and lower price in a foreign market.
3. Or it may be discrimination in the type or timing of the use of the product. For example railways charge different freight rates for different types of haulage.
Degrees of Price Determination - Price determination is done only when elasticity of demand for the product is different for different buyers and amounts demanded of the product differ at the same price i.e. the demand prices differ.
1. First Degree Discrimination - In discrimination of the first degree the monopolistis supposed to know the maximum amount of money each consumer will pay for any quantity. He then sets his price accordingly and extracts from each consumer the entire amount of his consumer’s surplus. However in actual practice few monopolists actually do that. An example of limited discrimination of this type is to be found in the practice ofdoctors of varying the charges on their customers according to their income status. Following graph shows First-degree discrimination as exercised by discriminating monopolist.
See Classroom lecture
2. Second Degree Discrimination - This occurs where a monopolist sets different prices for different customers but does not fully exploit their potential demand prices so that the monopolist captures only parts of his customer’s surpluses. The schedule of rates typically charged by public utilities like railways can be regarded as a form of second degree discrimination.
See Classroom lecture
3.Third Degree Discrimination - In this third degree discrimination means that the monopolist divides his customer into two or more classes or groups of the basis of the Elasticity of their demand for the product, and charges a different price to each class of buyers. Each group is a separate market. Suppose there are two markets such as A&B.
In sub market A demand is less elastic and therefore the monopolist restricts his sale in it and charges a higher price, in sub market B demand being more elastic more output is sold but at a lower price.
Hence there are in equilibrium of a discriminating monopolist.
1. MC of the total output must be equal to his combined marginal revenue.
2. Marginal revenue in all the sub markets must be equal to the combined marginal revenue.
Total output will be determined where his marginal cost curve intersects his combined marginal revenue from the various markets. The total output will be distributed for sale in the various markets according to their price elasticity. Greater the elasticity of demand for the product in amarket, greater the proportion of output sold in it. Greater the inelasticity lesser the proportion of output sold.
[bookmark: _Toc395102111][bookmark: _Toc395693272]2.3 MONOPOLISTIC COMPETITION: 
[bookmark: _Toc306180564][bookmark: _Toc395102112][bookmark: _Toc395693273][bookmark: _Toc395693365]Monopolistic Competition or Imperfect Market
The concept of monopolistic competition was put forth by an American Economist Prof EHChamberlain in his famous book "The Theory of Monopolistic Competition" published in 1933. In a simple form, monopolistic competition refers to a market situation wherethere are many sellers of the commodity but the product of each seller differs from each other. Noseller can have any perceptible influence on the price output policies of the other seller nor can be influenced by their action. Thus product differentiation is the hall mark of the monopolistic competition. The product differentiation manifestitself in several ways like difference in product branch, difference in trade mark, difference in quality and colouretc. Monopolistic competition is alsoknown asImperfect Competition.
[bookmark: _Toc306180565][bookmark: _Toc395102113][bookmark: _Toc395184113][bookmark: _Toc395693274][bookmark: _Toc395693366]Definition - According toLeftwitch - "Monopolistic competition is amarket situation in which there are many sellers ofaparticular product but the product of each seller is in some way differentiated in the minds of consumers from the product of every otherseller."
Characteristics ofthe Monopolistic Competition
1. Large number of buyer and seller–Under monopolistic competition there are large number of firms. Each firm has its own policy over the price output to some buyers; no seller by changing its price output policy can have any effect on the sales to other firms.
2. Free entry and exit - Like perfect competition firms are free to enter and exist in industry. 
3. Product Differentiation - Product differentiation refers to a situation when thebuyers of the product differentiate the product with other. This product differentiate may be real and imaginary. Real differences are like design, material used, skill etc.Whereas imaginary differences are through advertising, trade mark and so on.
4. Selling Cost - Another feature of the monopolistic competition is that every firm tried to promote its product by different types of expenditure. Advertisement is the most important constituent of the selling cost which affects demand as well as the cost of the product. The main purpose of the monopolist is to earn maximum profits; therefore he adjusts thistype of expenditure accordingly.
Equilibrium of the Firm and Price Determination - As in other market situations undermonopolistic competition also, every firm attempts to maximize its profits. 
Short run Equilibrium-In the short period there are two conditions of the firm’s equilibrium.
1. MC=MR
2. MC must cut MR from below.
1. Super Normal Profit - A firms earns super normal profits only when its averagerevenue is greater than average cost i.e. AR>AC It can be shown with the help of the graph.
See Classroom lecture

2.Normal Profit- A firm under monopolistic competition may also earn normal profit in the short period. 
See Classroom lecture

3. Sustaining Losses - In the short run period if the average revenue is less than average cost the firm sustains losses. It can be shown by the graph given below.
See Classroom lecture

Long run Equilibrium under Monopolistic Competition - Long period refers to that time period in which each firm can change its production capacity by changing the fixed as well as variable factors. All the firms in the firm’s long run will get normal profits only.

See Classroom lecture

[bookmark: _Toc395102115][bookmark: _Toc395693276]2.4 OLIGOPOLY COMPETITION: 
Price Determination under Oligopoly- Oligopoly is a form of imperfect competition in which a few firms produce either a homogeneous product or products which are close but not perfect substitute for each other. This kind of market structure has a small number of large producers. The number of firms may vary from two to ten firms. Markets in which there are only two players arecalled Duopoly. Oligopolies are interdependent in their decision-making. They banned of entry of any firms who are outside sellersfor protecting these firms.
Oligopolies have the following characteristics.
1. Interdependence in decision-making.
2. Sticky prices.
3. Barriers to entry in oligopoly arise due to heavy investments requirement, stronger consumer loyalty, and resistance by the established firms by price cutting.
4. Prevalence of Non Price Competition in the form of product differentiation, vigorousadvertising and provision of services.
The Oligopoly Model - We know that under oligopolistic conditions the rivals indulge in an intricate pattern of actions, reactions and counteractions showing variety of behavioral pattern. 
I. Kinked Demand Curve - The Kinked demand curve explain the interdependence of the firms in an oligopoly and why firms stick to one price,to explain the sticky price level of oligopolistic market.Hall, Hitch and Sweezy developed the Kinked Demand Curve. There are three possible ways in which a rival firm may react.
1. The rival firms follow the price changes, both cut and hike.
2. The rival firms do not follow the price changes.
3. Rival firms follow the price cuts but not the price hikes.
See Classroom lecture
II. Collusion Model - Cartel Model
[bookmark: _Toc306180568][bookmark: _Toc395102116][bookmark: _Toc395184116][bookmark: _Toc395693277][bookmark: _Toc395693369]A cartel is an association of business firms formed by an explicit agreement between them. Under cartel agreements, thefirms jointly established a cartelorganization to make price and output decisions to establish a cartel organization and production quotas for each firm and to supervise market activity of the firm in the Industry. Here the firms appoint acentral agency. The central agency is delegated the authority to decide not only the total quantity and the price but also the allocation of production among the members of the cartel and the distribution of the maximum joint profits among the firms. There are generally two types of cartels
1. [bookmark: _GoBack]Cartels for joint profit maximization.
2. Market sharing cartels - There are two basic methods for sharing the market.
i. Non Price Competition Agreements -
ii. Sharing of the market by agreements on Quotas - 
III. Non-Collusion Model - Prisoner's Dilemma: The prisoner’s dilemma of the problem faced by the oligopoly is best explained by the Prisoner's Dilemma Game. To illustrate the prisoners dilemma let us suppose there are two persons A and Bwho are partners in an illegal activity of match fixing on the tip of, CBI arrest A and B on suspicion of their involvement in fixing cricket matches. They are arrested and lodged in separates jails with no possibility of communication between them. They are being interrogated separately by the CBI 
CBI officials with the following conditions disclosed to them in isolation.
1. If you confess your involvement in match fixing yon will get a 5-year imprisonment.
2. If you deny your involvement and your partner denies too, you will be set free for lack of evidence.
3. If one of you confesses and turns approver and other does not then one who confesses gets a 2-year imprisonment and one who does not confess gets 10 year imprisonment.
[bookmark: _Toc306180569][bookmark: _Toc395102117][bookmark: _Toc395184117][bookmark: _Toc395693278][bookmark: _Toc395693370]Given these conditions each suspects has two option open to him
1. To confess
2. Not to Confess
Now both A and B face a dilemma on how to decide whether or not to confess. While taking decisions both have a common objectivei.e. to minimize the period of imprisonment. Given this objective the option is quite simple that both of them deny involvement in match fixing. But there is no certainty. That if one denies the other will also deny. The nature of their problem of decision-making is illustrated in the following table in the form of pay off matrix.

See Classroom lecture

Relevance of Prisoners Dilemma to Oligopoly- The prisoner’sdilemma illustrates the nature of problem oligopoly firms are confronted with in the formulation of their business strategy with respect to strategic advertising, price-cutting and cheating in case of a cartel. The basic issue is whether or not to increase the ad expenditure. If the answer is, do not increase then the questions are: will the rival firms increase ad expenditure or will they not? And if they do what will be the consequences for the firm under consideration? And if the answer is increase then the following questions arise: What will be the reaction of the rival firms? Will they increase or will they not increase their ad expenditure? The firm will have to find the answer to these queries under the conditions of uncertainty. It will have to anticipate actions, reactions and counteractions by the rival firms and chalk-out to own strategy. It is in case of such problems that the case of prisoners’ dilemma becomes an illustrative example.
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